
Rugged Ridge Front Steel Tube Fenders, JL & JT

Page 1/8

Part #11615.71

Components
1. Steel Tube Fender, Driver Side.................................................. 1
2. Steel Tube Fender, Passenger Side.......................................... 1
3. LED Bracket, Driver Side............................................................ 1
4. LED Bracket, Passenger Side.................................................... 1
5. Nut Plate..................................................................................... 4
6. LED Light..................................................................................... 4

7. M6 x 20mm Button Head Bolt.................................................. 4
8. M6 x 16mm Button Head Bolt................................................ 14
9. M6 Washer, small OD.............................................................. 30
10. M6 Washer, large OD................................................................ 4
11. M6 Ny-Lock Nut....................................................................... 14

LED Bracket,  
Passenger Side

LED Bracket, 
Driver Side

Nut Plate, X 4

X 4 X 4 X 14 X 30 X 14X 4

Towards the  
front of the Jeep

Towards the  
front of the Jeep

https://www.carid.com/rugged-ridge/


Rugged Ridge Front Steel Tube Fenders, JL & JT

Page 2/8

Part #11615.71

2. Remove the lower fender brace located at the
rear bottom of the fender.

NOTE: Following steps are shown on a Sahara model, 
the procedure is the same for the Rubicon.

1. Start by removing inner fender liner. This will require
popping all the plastic rivets that join the liner to the
fender edge. There is multiple 10mm bolts and plastic
clips that must be remove to pull the liner out.

3. Unplug the fender wiring from the chassis harness



Rugged Ridge Front Steel Tube Fenders, JL & JT

Page 3/8

Part #11615.71

5. Pull splash shield down to reveal additional T25 torx
screws to remove.

4. Now at the front of the fender remove additional
attaching hardware. Start with the two 10mm bolts
and then T25 torx screws

6. Disconnect side marker lights and front running
lights. There are some zip ties that will need to be
snipped to release the harness from the fender.



Rugged Ridge Front Steel Tube Fenders, JL & JT

Page 4/8

Part #11615.71

8. Now release all the white retaining clips that
attach the fender to the Jeep. Use a small set of
needle nose pliers to pinch the back side of the clip
and pull the fender from the Jeep. The last clip at the
bottom of the fender is deep in the fender. Standard
needle nose pliers won’t reach it. You could use a
long screwdriver or just pull to release this clip. Now
fender can be removed.

7. Firmly grab the light housing to pull the adhesive
tape away to remove light from the fender.

9. Remove the lighting hardness from the OE fender.
Now cut the light socket/plug from the harness. We
recommend staggering each cut so the wire splices
don’t stack on each other. Do Not cut the plug
towards the rear of the fender to the main chassis
hardness only cut at the turn signal.



Rugged Ridge Front Steel Tube Fenders, JL & JT

Page 5/8

Part #11615.71

11. Now thread the LED lights to the fender and
inside LED bracket. There is no need to overtighten
the nut to the light. We strongly suggest appling a
small amount of lock tight to the threads on the light
then hand tighten. This will be sufficient enough to
hold the light secure to the fender.

10. With your modified wiring harness tuck it back
through the body. Tuck the cut end of the harness
behind the front fender bracket. Then feed the
length of the harness between the layers of the
fenders. Make sure the plug reaches it’s mate
towards the back of the fender.

12. Clean the sheet metal of the Jeep where the
steel fender will meet. Place fender into place to the
vehicle. The brackets will support the weight of the
fender.



Rugged Ridge Front Steel Tube Fenders, JL & JT

Page 6/8

Part #11615.71

14. Next at the front of the fender attach the internal
LED light bracket. Insert button head bolt through
the OE fender bracket, steel fender bracket and LED
light bracket, secure with washer and nut.

Note: The internal LED light brackets are similar in 
shape. Use images here to assure the correct location.

13. Secure the fender to the body with just a couple
of bolts. Just finger tight at this time. Its only to secure
the fender to the Jeep to secure it from being
bumped off while wiring the light.

15. Concerning the method of wiring use your
preferred method. We selected wire splices with
heat shrink ends. We would also recommend
soldering and using heat shrink as the best method
of connection and keeping the connections
waterproof.

The provided LED lights need to have the ground 
wires tied together to the Black wire in the OE 
harness. The Turn Signal light of the fender needs to 
tie into the White with Green Stripe wire. The side 
Running Light needs to tie to the White with Brown 
Stripe wire.

Towards the  
front of the Jeep

Towards the  
front of the Jeep

LED Bracket,  
Passenger Side

LED Bracket, 
Driver Side



Rugged Ridge Front Steel Tube Fenders, JL & JT

Page 7/8

Part #11615.71

17. Plug OE light harness back near the back of the
fender. With all the wiring complete and secure turn
your Jeep key on and test your LED lights. Check turn
signal and running lights.

16. After all the wires are crimped secure wires with
the heat shrink and electrical tape. Take your time
and make sure all the wires are secure and won’t pull
apart. The LED lights have thin wires. May need to
stripe more wire and fold the exposed wire to create
a thicker wire to secure in the wire splice.

18. Now attach the remaining hardware of the
fender to the Jeep body. Notice at the top mounting
location requires a bolt plate because its to difficult
to hold a nut between the fender liners. Hold bolt
plate into position, see the bolt plate threads and
thread the bolt to the nut plate.



Rugged Ridge Front Steel Tube Fenders, JL & JT

Page 8/8

Part #11615.71

20. Now fully tighten all hardware. DO NOT use air
or power tools to tighten. Tighten in a alternating
pattern and repeat to fully secure. That completes
the install of your front fenders.

19. Continue to secure each hole of the fender with
button head bolts, washers and nuts. Use the Large
OD washers against the holes that meet the fender
sheet metal. Note the location of washers used to
the right.

Large OD washers

Small OD washers

Learn more about fender flares on our website.

https://www.carid.com/fender-flares.html



